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* to Encrypt With Affine Cipher :
¢ =t * p+key (mod n) where i is Multiplirer, p is character in plaintext , key is shift number , nis alpha size
Mote : to choose the right m , it must the SC0GmAY = 1, 1.2 mand n is relative prime number , i must use SC0 method to check

To becryption with Affine Cipher
pam *{c-key) fnod n) wherem’ is the inverse of m
Mate : to obtain the m™ it must use Extended Euclid's tethod
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bool AffineCipher :: checkEey {(int m ,int mnj

{
if { GCD{m,n) == )
return true

else
return false:
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string AffineCipher :: encryption {(string plainText , int m , int key , int n )
i

string strl

for (int i=0 ; i<plainText.length{} ; i++)

{
int x ( { { {({(int)plainText[i] - Yy*m + key ) % n)o+
stri += {(char) x
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return strZ ;
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